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1. Calculate the currents in all branches of the 
circuit shown in the figure using the Loop-
Current Method. 

R1 = 20 , XL4 = 20 , R5 = 10 , XC6 = 20 
E1 = j20 V, E3 = 20 V, J2 = 10 A, 
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2. Determine the voltage V0 using the Loop-
Current Method. 

R1 = 2 , XC1 = 1 , XL2 = 2 , R2 = 4 , 
E1 = 12 V, J3 = 2 A. 

 

3. Calculate the meter readings in the circuit shown below using the Loop-Current 
Method. 

e(t)=100√2sin(ωt) V, i(t)=5√2cos(ωt) A, R1 = R2 = R3 = XL2 = XL3 = XL4 = XC2 = 10 . 

 
 


